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RACES

1. Races: A contest of speed In running, riding, driving, sailing or rowing Is called a race.

2. Race Course: The ground or path on which contests are made I3 called a race course.
3. Starting Point: The point from which a race begins is known as a starting point.

4. Winning Point or Goal: The point set to bound a race Is called a winning point or a goal.
2. Winner: The person who first reaches the winning point is called a winner.

b. Dead Heat Race: If all the persons contesting a race reach the goal exactly at the same time, the race 15 said to
be dead heat race.
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RACES G !f

7. Start: Suppose Aand B are two contestants in a race. If before the start of the race, Ais at the starting point and
B 1S ahead of A by 12 metres, then we say that 'A gives B, a start of 12 metres'.

To cover a race of 100 metres in this case, A will have to cover 100 metres while B will have to cover only (100 -
12) = 886 metres.

Ina 100 race, 'Acan give B 12 m' or 'Acan give B a start of 12 m' or ‘A beats B by 12 m' means that while A runs
100 m, B runs (100 - 12) = 88 m.

6. Games: 'Agame of 100, means that the person among the contestants who scores 100 points first is the winner'.

ITA scores 100 points while B scores only 80 points, then we say that 'A can give B 20 points'
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RACES
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Ima 100 M race, A Can give B 10 m and O 25 m. In the same race B can give
A 1& m

E. 20 m
L= 2F 1

D. =

Answer: Option B
Explanation:

AT B = 100 0 90,
A0 O =100 - 722

B A 0 100 =0
B . — X — = = = —

o L= 100 2 T2

wvwhen B runs 90 m, C muns 72 m.

=

Wwhen B runs 100 m, C rnuns P

= 1[][]er‘| = S0 .

-"- B Ccan give < 20 m.
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RACES

Aand B take part in 100 m race. Aruns at 5 Kmph. A gives B a start of 8 m and siill beats him by 8 seconds. The
speed of B is:

A. 5.15 kmph
B. 4.14 kmph
C. 4.25 Kkmph
D

4.4 kmph

Answer: Option B

Explanation:

A'sspeed= | 5 X b m/sec = é m/sec
PR 18) T ey

18
Time taken by A 1o cover 100 m = [1 00 x E] sec =72 secC.
. Time taken by Btocover92 m = (72 + 8) = 80 secC.

B's speed = 2XEKmh-414kmh
peed= 180 X 5 )P =4 Ph.-
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RACES

In a 500 m race, the ratio of the speeds of two coniestanis Aand Bis 3 - 4. Ahas a start of 140 m. Then, A wins by:

A. 60m
B. 40m
C. 20m
D. 10m

Answer: Option C
Explanation:
To reach the winning post A will have to cover a distance of (500 - 140)m. /e, 360 m.

While A covers 3 m. B covers 4 m.

4
While A covers 360 m, B covers [5 X 360Jm = 480 m.

Thus, when A reaches the winning post, B covers 480 m and therefore remains 20 m behind.

. Awins by 20 m.
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RACES
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Ina 100 m race, A beats B by 10 m and C by 13 m. In a race of 130 m, B will beat C by:
Al 24 m

B. 4.5 m
. = m

D. & m

Answer: Option D
Explanation:

AT B =100 - 90.

A C =100 : 87.
B_B A _ 90 _ 100 _ 30
c A C 100 87 29’

When B runs 30 m. © runs 29 m.

29
Yiwhen B runs 180 m, & rnuans ﬁ

.. B beats C by (180 - 174) m

I
ol
-
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RACES

At a game of billiards, A can give B 15 points in 60 and A can give C to 20 points in 60. How many points can B give
C in a game of 907

A. 30 points
B. 20 points
C. 10 points
D. 12 points

Answer: Option C
Explanation:
A:B=60:45.

A:C=60:40

B[] o, [ B e ) s ko
c A"c) Lleo " 40) 40 8O T

. B can give C 10 points in a game of 90.
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RACES

In 100 m race, A covers the distance in 36 seconds and B in 45 seconds. In this race A beats B by:

A. 20m
B. 20m
C. 225 m
D. 9m

Answer: Option A

Explanation:

100
Distance covered by Bin 9 sec. = [4—5 X QJm =20 m.

.. A beats B by 20 metres.
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RACES

In a game of 100 points, A can give B 20 points and C 28 points. Then, B can give C:
A. & points

10 points

14 points

o om

40 points

Answer: Qption B
Explanation:

AT B =100 : 80.

AC=100" T2
B _ E:-:ﬂ B EH:IE1DEI _E_mn_mﬂ_gﬂ
‘S .Y <)l |l 100 72 a9 ag ' ]

B can give C 10 points.
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RACES

In a 200 metres race A beats B by 35 m or 7 seconds. A's time over the course is:

A. 40 sec
B. 47 sec
C. 33 sec

D. rNone of tThese

Answer: Option C
Explanation:

B runs 3o min 7§ sec.

il
- B covers 200 m in [E g EDD] = 40 secC.

B's time over the course = 40 sec.

- AYs time over the course (40 - 7)) sec = 33 sec.
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RACES

Ina 100 m race, A can beat B by 25 m and B can beat C by 4 m. In the same race, A can beat C by:
A. 21 m

B. 26m
C. 28 m
D

29 m

Answer: Option C
Explanation:
A:B=100:75

B:C=100: 96.

A B 100 100 100
icm (B ) - [0 0] 100 s

. Abeats C by (100 - 72) m =28 m.
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RACES
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Imn a race of 200 M, A can beat B by 31 m and C by 18 m. In a race of 220 m, O will beat B by:
AL 2273 mM

B. 25 m

. 19.2 m

Answer: Option B
Explanation:

AT B =200 1689,

AT C =200 182,
C _ (S, Ay _ (182 2007 _ .. ..o
=LY B | 200 169 ) ' '

WWhen C covers 182 m, B covers 169 m.

159
Yihen C covers 350 m, B covers E = E-Ecljr'ﬂ = 325 m.

Therefore, C beats B by (320 - 325 m = 25 m.
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RACES

Ina 300 m race A beals B by 22.2 m or & seconds. B's time over the course 1s:

ob Sec
al sec

7o sec

o 6 b p

Mone of these

Answer: Option B
Explanation:

45
B runs ? min & sec.

2
B covers 300 m in [E.:l{ a5 x SDD]SEE = 80 secC.
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THANK YOU
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